1. The to Easter bunny has left 62 eqgs and each child has
found 2 eggs. How many children are there in school?
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2. There are 44 chickens in a Nursery. Each child needs 4
chickens. How many children are there in a nursery?
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3. Pete made 28 cupcakes for Easter Sunday party. Each
person ate 4 of them.How many people were at his party?
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4. Richa makes 49 bunny chocolates for Easter Sunda Party.
Each person eats / at them. How many people are there at

party ?
44

Answer :

Nou (%
1 x|+
@j
TeN



1. T have 30 easter eggs. I want to divide them equally to
my 3 Bunnies. How can I divide them equally?
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2. The cost of 4 cartos is 249 . Find the cost of each
carrot.

Answer :

3. The price of 6 of easter eqgs is 48 $. Find the price of

each egg.
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4.1 have 20 Easter eqgs. I want to divide them equally to
my 5 friends. How can I divide them equally? ?p
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1. Kim buys 75 Easter eggs in 15 days . How many eggs does
he buy in 1-day? YN

Answer :

2. 12 bunnies have 24 legs. How many legs does 1 bunny
have?

Answer :

3. A farmer grows 112 carrots in 7 days. How many carrots
does he grow in one day?

Answer :

4. Richa buys 32 Easter chocolates in 2 days. How many

chocolates does she buy in 1 day?
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